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Duration :3 Hours Total Marks : 250
difley - &
SECTION - A
SOy : i) eanans demsihen 150 QFThaEhsE WaMoe L wefssab.
Note : Answer not exceeding 150 words each.

ii) eananm demeiben USS wWHICILeTTSET.
Each question carries ten marks.
iii) Qen@ssILLGeTer LSlTEaTM cfemasefies aAGLEID LSSl  Nemssensd
LB eflemLwierfl&a)Lb.
Answer any ten questions out of thirteen questions.
(10 x 10 = 100)

1. (A) P wpmpib Q HHCwry ewm Cameemw wepGu 20 wHmp 30 Brisefled
ryiuy geujset Pomeml atpres GCsibg Cameemwus OQr_rdlery. e
Bretser Gauemer QEwis VImE Q Syereur GearmeliHiEmry. Wgperer Gouemevemu P
speraui S prisefld rsfory aefle, Csr_rHue®mhEs TSIMT BITHEDHES
WnEe Q Cameemwu el (H& Gesrpri?

P and Q can do a piece of work in 20 days and 30 days respectively. They started the
work together and Q left after some days of work and P finished the remaining
work in 5 days. After how many days from the start did Q leave? (5 Marks)
(B) A gyeraui e Couemevenw 45 prisefld uiury geuF 1S mrisst wi (HGw
Cauemevenwé Gelflpry. Wsweter Ceuemedenu Boyereuy 24 mrisefld igsSomy
aefled, bz GCaumerwllsr 80% g Pmaum PoewThg Wiss RGO CBISMsS
STETOTS.

A can do a work in 45 days. He works at it for 15 days and then, B alone finishes
the remaining work in 24 days. Find the time taken to complete 80% of the work, if
they work together. (5 Marks)

Manidhanaeyam Free IAS Academy
TNPSC Group - I Main Exam - Study Materials



MANIDHANAEYAM FREE IAS ACADEMY - TNPSC GROUP I - MAIN EXAM
MODEL TEST - 6 - 15 June 2023 - Questions

2. A vomp B HHCumy em Ceaemeenw 12 prersefln B womb C  &CGumy
Simzg 15 prarseflgn A womp C HHCury sews 20 mrarsafleynd  gLLF.
eatarmamd safll5safllCu SiBs Cameamu agzmer BT seafled (g,

A and B can do a piece of work in 12 days, while B and C can do it in 15 days
whereas A and C can do it in 20 days. How long would each take to do the same
work?

3. I, II womd III syem(hseprssrer iy eighiser weomGu 15%, 20% wHmD
25% eresfled, I15000 &g 3 YETHHEDHES HOLGHGSD Fal DU IGEMILS SHTEITEH.
Find the C.I on 15000 for 3 years if the rates of interest are 15 % , 20 % and 25 %
for the I, IT and III years respectively.

4. 13 1/3% gyen(m aiguiled, eTUTrETHSCSTMH (WD QIligs SHETSELLILLL Te
asgemen ye(hsefled, I3375 gz I4096 o5 wIMID?
In how many years will 33375 become 34096 at 13 1/3% p.a if the interest is
compounded half-yearly?

5. (A)15% oo ealguled, 3 SETHSEEHEG HOLEGD sal(HauligsiEd
seafla g sgn Qe Cuujeter alsSHursd I1134 aafle, Emes srers.
Find the principal if the difference between C.I and S.I on it at 15% p.a for 3 years
is T1134. (5 Marks)
(B) 5000 Q&3 2% e alguie, S@nuraTOHSCsT®m o alligd
SETSSLIULL T, F JTHEGS HoLsEw sl (HalksGhn Seflaligsen
BevL_Cuuyeter aflgSunregengs srewrs.
Find the difference between C.I and S.I on Y5000 for 1 year at 2 % p.a, if the
interest is compounded half yearly. (5 Marks)

6. @ fm OCzmfled Hmeuerd, 40 yewmsemert uenfluwisd 150 Brisefle 540

alewsliCurdl Qevpullseners (Motor Pumps) swunflg euphis @f oUUBSSSMS
a(h3gIs0sTaTSngl. 75 BratsEpsEGU UnG, obHneaarssred 180 elensliClumd
Beoplfaener wLLECL surflés (WYBESZ. Camewrars EUUESSSeTLIY.
Crrsdn® wryw GCaarHoweafld, Fahizons assmer siaumsmer IbHnaieTD
uessfluwiss Ceuswr(Hib?
A small-scale company undertakes an agreement to make 540 motor pumps in 150
days and employs 40 men for the work. After 75 days, the company could make
only 180 motor pumps. How many more men should the company employ so that
the work is completed on time as per the agreement?

7. fggnemens Oaremr(p 7 S oyrapd 24 S 2w 2MLW QWM bl elgels
FaLmrD 2 (haursslubhdlngl. Oseaeas auqeasd HFgraflar s 415 erefled, 6w
Berid SHrevorss.

The radius of a conical tent is 7 m and the height is 24 m. Calculate the length of
the canvas used to make the tent if the width of the rectangular canvas is 4 m.
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8. emwm dml gers YD Brmers OsTEUILILS Fabl e oCsriSsamer
§720Q8.18” urliyster srAgssTer LLGTUGSSHS swurfsdprer. 5 Q.S SLT(PLD,
12 Q&.5 e wreb QarawL aHgmer Cgridser swrfléEs igub?
A girl wishes to prepare birthday caps in the form of right circular cones for her
birthday party, using a sheet of paper whose area is 5720 cm’, how many caps can
be made with radius 5 cm and height 12 cm?

9. esreflim @F Sewr&ECarer augeus SHamearsSGg owm 5T CF.15-6F afewnd s
R 0.14 &igb Qeear@b. Sigsr 2L uyn wpmbd Qeefliyp el fissr wepGu 20
Qz.5 wHmD 28 OGS eafled, FmeT WLWTS eIFERTD LLE eTeualaTe
Qgeveum@d?

The internal and external diameters of a hollow hemispherical vessel are 20 cm and
28 cm respectively. Find the cost to paint the vessel all over at 0.14 per Sq.cm.

10. @reir() LsewLseT 2 L LU Slerper. S sslQunipn wse wHlysefldr sabHze
(i) 4 -&@& swwrs
(ii) 10 - el Qufigrs
(iii) 13 -g ol Goopars Pmuusparer Hspsse] srews.
Two dice are rolled. Find the probability that the sum of outcomes is
(i) equal to 4
(i) greater than 10
(iii) less than 13

11. @reir(p Frrer LsewLseT (Pewpwrs Cr CrrZHe 2 mLLLLhSearmer.

(i) Quew@® vsoLsaflgid @Cr s wHIY Hess
(i) s wHILsefler CUBmSESDLET LST aTaITSES S 58
(iii) s wAILsefar FDHO UST TTERTTSS HOL 58
(iv) s vHuysefler sadze 1-45 Mmés

s fu fHapsflseflar flspssasmens: srers.

Two unbiased dice are rolled once. Find the probability of getting

(i) A doublet (equal numbers on both dice)

(ii) The product as a prime number

(iii) The sum as a prime number

(iv) The sum as 1

12. afleusmil emeuj smisgy eougelerar fleosms meausgeremy. bs HleosSler
shmere] 4005 wHMID IiFeT @wm cpamevelLGdler sete 12058 yEw. SrewT(h
QeucuGaum euenswner smusdlsemert LWfl geuf Heogms Dwm Fwougserrsl
Wfsfory aaflled QB W Hogdar uTumus srewrs.

A farmer has a field in the shape of a rhombus. The perimeter of the field is 400m
and one of its diagonal is 120m. He wants to divide the field into two equal parts to
grow two different types of vegetables. Find the area of the field.
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13. @FF o560 TG 10% el eizsdle S syem@psefles 310,050 o5 2 wiHss
aafler, EFmeVs STewTs.

A principal becomes 10,050 at the rate of 10% in 5 Years. Find the principal.

Aifley - o
SECTION - B
SmMlliy : i) eanans demeben 250 CETHaEhHE ST L wefssaLb.
Note : Answer not exceeding 250 words each.

ii) eananm demeben Ulemearbgl wHICLeser.
Each question carries fifteen marks.
iii) e@n@EssILLGeTer USlTEpeTn]  eflemsseted ewaGLEID USS eNemssensd
LG eflemLwierllsseaLb.
Answer any ten questions out of thirteen questions.
(10x 15 = 150)

14. ggpaed  erettueui 52 F(hsmer Oamewr.  SUineSimBH  epermy  FL(hsewer
Caib0sHefnrT.CaibozsO&su L. & _(haeT
(i) 3 evGul & (Pserrs
(i) @m svCul wHmb Prewr@ Hermrauy F_(Hserrs
(iii) em 6vCUL, @m &Herrauf wLOHMID @B apriger oUusDHaTer Hlspssa
ST6vTS.
Angel selects three cards at random from a pack of 52 cards. Find the probability
of drawing:
(i) 3 spade cards.
(ii) One spade and two knave cards.
(iii) One spade, one knave and one heart cards.

15. gy eflememum(p Gumiiquiled 11 oy eu@Liiled usHerm 260 wrewreufsafled,

90 Guj sug Gumiguleymw, 120 Gui aprsdl Cumiguilemd wHmpb SO Guj
Sreim( Gum_igulyd  HeBGICHETETHTHETT. 6(h LTERTOIST FwaumiL (Wermulled
CainbozHaaslubSarprer. CsiEosHHEGW rewrais () suUly Ioeg aprssl, (i)
Grewr® Cumiguileid seng Osmataugpsner, (i) aprsfluiledr w0, (V)
suguied LWL, (V) Fflurs arléd LL(HL. SV OsTaTaugnaTar HHPssHa]
STEHTS.
In the Annual sports meet, among the 260 students in XI standard in the school, 90
participated in Kabadi, 120 participated in Hockey, and 50 participated in Kabadi
and Hockey. A Student is selected at random. Find the probability that the student
participated in (i) Either Kabadi or Hockey, (ii) Neither of the two tournaments,
(iii) Hockey only, (iv) Kabadi only, (v) Exactly one of the tournaments.
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owm Osratseeafld S HAaly wHmb 7 usms BDULGZSET 2 dTerer. LHGDTW®
Qanetamevefld 6 Hey wOHMWD 9 uswms Apubgser 2 ereter.  GreRrH
Qararsesnsaflled gCzid amedlBhs om ubs CziBAsHssLLGEDS. iF
usens Bl ubsTes PMmEs Hspsse sTews.

An urn contains 5 red and 7 green balls. Another urn contains 6 red and 9 green
balls. If a ball is drawn from any one of the two urns, find the probability that the
ball drawn is green.

om Ogmflbsrencuier 2 Geors eurefl, Fabller Qe ssewT augelled 2 eTerg).
sigsr CGooym, Siguyn el L miser wWweopGuw 10 15 wHMHID 4 5 gy@w. IiFer
ewgb 4 15 erafled, PevrLssar_gHer euemerurly wHMID GLISFH LYpLUTLenLS
STETTS.

An industrial metallic bucket is in the shape of the frustum of a right circular cone
whose top and bottom diameters are 10 m and 4 m and whose height is 4 m. Find
the curved and total surface area of the bucket.

owm Sewrws Camemd wHmb Hewro yeorsCarerser CLIFSL UL FOLTATSTS
Bmé@wrerme eaupbler ser erasefler el 3V 3 4: aem BlemLa.

A solid sphere and a solid hemisphere have equal total surface area. Prove that the
ratio of their volume is 3V 3: 4.

2wyd 16 QF.15 2w @m sablldr GQeoLsaa algeald mwbS ClETeTSE6T
seardler Cuoypd SHobs Hlemeouled 2 edrergl. Spoynm Td 8 &5 wHmWD CuopHyp
ST 20 Gs.S Gsnewr Glsmenaoeafled wuemwwrss ured AruuluGEng. e®
I § urellerr eflewed I40 erefled, BruubLGD ureSler Quorss ellememus sSrers.
A container open at the top is in the form of a frustum of a cone of height 16 cm
with radii of its lower and upper ends are 8 cm and 20 cm respectively. Find the
cost of milk which can completely fill a container at the rate of I40 per litre.

(AP wpmd Q HACury owm GCaemeerw wenpGu 12 wHpmb 1S5 mrersefled
wyiuy. P geral obs GCaumeomus saflCus Csriflu Gng, 3 Brerser
sfi5s Q peral; SeumLsr Gsihg Ceaemedwnars QWD eIy IjeIIHL6T
Bmuary eafled, Caumeowrarns esgemer mrerser Bigs55517

P and Q can do a piece of work in 12 days and 15 days respectively. P started the
work alone and then after 3 days, Q joined him till the work was completed. How
long did the work last? (8 Marks)
(B) P eteiruau; seflCu m Geauencouller 2 ugdeow 6 mrerseflen, Q ererueul
saflCw 65 Geauemerwllsr 2/3 ugdHeow 4 prarseflud yliur. Smairsd
Pewewrg G5 Ceuemeoullsir 3/4 uGHenw erssmer mrersafled pryly? (7 Marks)
P alone can do 1/2 of a work in 6 days and Q alone can do 2/3 of the same work in 4
days. In how many days will they finish 3/4 of the work, working together?
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21. X ererueui FeflCw om GCeaumevenw 6 mratsafllgun, Y erarueay gaflCu 96z
Cauemevenwu 8 mretsafld wilur. X wpmp Y HH0wri Pus Caumevenw
348000 @&© ouUusQstemmLery. Z earuafler 2 gellyLer SeuissT GBS
Caemevenw 3 mreraefled (pussens cafle, Cgrensuicr Z Ber Lk eTeuaueray?

X alone can do a piece of work in 6 days and Y alone in 8 days. X and Y undertook
the work for ¥48000. With the help of Z, they completed the work in 3 days. How
much is Z’s share?

22.(A) @F oserarg gsal ey opuled 2 syarsfled yemglGursrm 1.69
LG Hfng eafled, ey dssmzs sreurs.
Find the rate of compound interest at which a principal becomes 1.69 times itself
in 2 years. (7 Marks)
(B) 32 syeorssr mrolerrermisi® 12 wewfl Crrib Gauened Qg emGaueneenw 1S5
pretsefled (priuy eaefld, obs Cameullsr Qm wWLKEMS TS5FMT I ETSH6T
Broletrermis@ 10 wenflGrrn Gaiemer Qe 24 mrersefled (pigLLF?
If 32 men working 12 hours a day can do a work in 15 days, then how many men
working 10 hours a day can do double that work in 24 days? (8 Marks)

&0 Qar@ssiUl L alaIEsErsEE&S Fal(halllqmls STeTs.

(i) S0 = 34000, ger() aullg ez r = 5%, n=2 a6, yTHSQST®
e allly sSersSLiLBhEng).

(ii) S0 = 5000, syewr(h) eullg e r = 4%, n = 1 Y2 sy,
SOTWTET(HHES @M (WD ailly SeursSLLuhEng.

(iii) o#e0 = I30000 (pgeomd Syevor® ailly efgd, r = 7% QuewrLmd yeTH
ally g r = 8% YETHEHS R (POD Qs SarsS_LuhiEng.

(iv) g0 = 10000, syer() eullg 6o r = 8%, n = 2 ¥ gyewr@aer,
STOTET(H&EES QWM (WD ailly SesdLlubhEng.

Find the C.I for the data given below:

(i) Principal = 4000, r = 5% p.a, n = 2 years, interest compounded annually.

(ii)  Principal =35000, r = 4% p.a, n = 1 % years, interest compounded half-yearly.

(iii)  Principal = 330000, r = 7% for I year, r = 8% for II year, compounded annually.

(iv)  Principal =310000, r = 8% p.a, n = 2 % years, interest compounded yearly.

M Osrens ewm GHIUILL seflaly dsshe 2 sam@aefleo I 6,200 aeran, 3
sperhsefld 36,800 ererayd 2 widlpg eeflld  SBESS OCFTewsewwD, el
digSmFU|D STevTs.

In simple interest, a sum of money amounts to T 6,200 in 2 years and X 6,800 in 3
years. Find the principal and rate of interest.
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25. simevsr  eTebrLeuf LmeOT2))  eTeTLIBEE < 5,000 @ 2 ETHSEDHGL  FrTeV6
seTUImBE@ 3,000 4 HgamHaEpsEEL @Cr seflaly dssHed aphflernrs. s
Qurggwrs 32,200 el yurs Smer QuHDTT aafled, ey cdzsmss srers.

Arun lent X 5,000 to Balaji for 2 years and T 3,000 to Charles for 4 years on simple
interest at the same rate of interest and received I 2,200 in all from both of them as
interest. Find the rate of interest per year.

26. 14 Q&5 elLqpeter (Hmiedlmibg 15 HiS / wewll aearp CaussHled 50 1§ Hemd
wHmib 44 15 @b Csraw. o®m CFaas agas QT gulaier sements LMuSng.
creucuerey Cursded gewrenfifler wLL1b 21 CF.15-8@ 2 wbb.

Water is flowing at the rate of 15 km per hour through a pipe of diameter 14 cm into a
rectangular tank which is 50 m long and 44 m wide. Find the time in which the level of
water in the tanks will rise by 21 cm.
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